


def pow(self, x, n):
        l = self.msb(n)
        C = 1
        for i in range(0, l + 1):
            C = self.prod(C, C)
            if ((n >> (l - i)) & 0x1) == 1:
                C = self.prod(C, x)
        return C



function msb(x)
        local i=0
        t=copy(x)
        while t>0 
          i+=1
          t>>=1 
        end
        i
end

function bad_pow(n,x)
        n==0 && return 1

x*bad_pow(n-1,x)
end

function better_pow(n,x)
        n==0 && return 1
        local c=1

for i in msb(n):-1:0
          c *= c
          (((n>>i) & 1)==1) && ( c*= x)
        end
        c
end













def Euclidean(u, v):
    print("(", u, ",", v, ")")
    if v > u:
        return Euclidean(v, u)
    while v != 0:
        r = u % v
        u = v
        v = r
        print("=(", u, ",", v, ")")
    return u

function my_gcd(x,y)
    x>y || return my_gcd(y,x)
    y==0 && return x
    @show (x,y)
    my_gcd(y,mod(x,y))
end


